Lecture17

Wednesday, December 6, 2017 2:28 PM

Evolution Equation V -From the Providues Lechare $\frac{dq^{i}(x,t)}{dt} = \frac{\chi(t)}{2\pi} \left(\frac{dy}{y} \left[q^{i}(y,t) f_{qq}(\frac{x}{3}) + G^{i}(y,t) f_{qq}(\frac{x}{3}) \right] \right)$ $\frac{dG(\mathcal{K})}{dt} = \frac{\mathcal{L}(\mathcal{F})}{\mathcal{I}_{T}} \left(\frac{d\mathcal{F}}{\mathcal{I}_{T}} \left[\frac{\mathcal{L}}{\mathcal{I}_{T}} q^{\prime}(\mathcal{F}) \right] + G(\mathcal{F}) \left[\frac{\mathcal{L}}{\mathcal{I}_{T}} q^{\prime}(\mathcal{F}) \right] \right)$ We Calculated Splitting Functions as $P_{qq}(2) = C_2(R) \int \frac{1+2^2}{1-2}$ $\Gamma_{49}(2) = C_{2}(P) \int \frac{1+(1-2)^{2}}{2} = 2 - 1$ 199(2)= 1, (2²+(1-2)²) $P_{GG}(2) = 2 C_2(G) \left(\frac{1-2}{2} + \frac{2}{1-2} + \frac{2}{1-2} + \frac{2}{1-2} \right)$ Obtained Conditions of Splitting Functions $\int_{X} dz \, P_{gg}(z) = 0$ $\left(d_{2} + 2 \left(P_{22} + P_{32} + P_{$

 $\int dz \cdot 2 \int 2f P_{q_{G}}(z) + P_{q_{G}}(z) = 0$ - Regularszartilan of 1-2 strugularly 1-2 -> (1-2)+ Such Hat $\begin{pmatrix} d_{2} & f(2) \\ (1-2) \end{pmatrix} \longrightarrow \begin{pmatrix} d_{2} & f(2) \\ (1-2) \end{pmatrix} = \begin{pmatrix} d_{4} & f(2) - f(1) \\ (1-2) \end{pmatrix} = \begin{pmatrix} d_{4} & f(2) - f(1) \\ 1 - 2 \end{pmatrix} = \begin{pmatrix} d_{4} & f(2) - f(1) \\ 1 - 2 \end{pmatrix} = \begin{pmatrix} d_{4} & f(2) - f(1) \\ 1 - 2 \end{pmatrix} = \begin{pmatrix} d_{4} & f(2) \\ 1 - 2 \end{pmatrix} = \begin{pmatrix} d_{4} & d_{4} \\ 1 - 2$ $--(fl_{1}(1-2)(f(2)-f(1)))=$ $= \int c dz \, l_{1}(1-2) \frac{d}{dz} f(2)$ $\int dz \frac{1}{(1-z)_{t}} = 0$ => Using Above Regularization we detained $P_{qq}(2) = C_2(R) \int_{(1-2)}^{1+2^2} \frac{1}{2} \frac{5(2-1)}{2} \int_{all \ 2}^{arr} dl \ 2$ ____ Nou we consider Per $\int G_{4}(2) = 2 C_{2}(G) \left(\frac{1-2}{2} + \frac{2}{(1-2)_{1}} + \frac{2}{(1-2)_{1}} + \frac{2}{3}(1-2) \right)$ (da a far Paris Paris]= 0=

 $\int Ut' t \int 2C f (4G(t)) + G(t) \int$ $= \left(\frac{1}{2} d^{2} - 2 \right)^{2} 2 f \left(\frac{1}{2} \left(2^{2} + (1 - 2)^{2} \right) + \frac{1}{2} d^{2} + \frac{1$ $+2C_{2}(G)\left(\frac{1-2}{4}+\frac{2}{(1-2)}+\frac{2}{(1-2)}\right)$ -+B(d2.2 S(1-2). $= f \left(\frac{d^2}{2^3 + 2(1-2)^2} + \frac{d^2}{2} \right)$ $+2C_{2}(G)\left(\int_{0}^{a}dz\left((1-2)+\frac{2^{2}}{(1-2)+\beta}+\frac{2^{2}}{(1-2)+\beta}\right)\right)\left(+\beta=0\right)$ $(2) = \int d^{2} \left(2^{3} + 2 - 22^{2} + 2^{3} \right) = \int d^{2} \left(2^{3} + 2 - 22^{2} \right) =$ $= \int \left(\frac{2}{4} \frac{2}{7} + \frac{2^{2}}{2} - \frac{2}{3} \frac{2^{3}}{3} \right) = \frac{2}{7} \frac{1}{7} \frac{1}{7} - \frac{2}{3} \frac{1}{7} \frac{$ $\begin{array}{c} (2-1)(2+1) \\ (2-1)(2+1) \\ = \int d_{7} \left[1-2+2^{2}-2^{3} + \frac{2^{2}-1}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{-2} + \frac{2^{2}-1}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{-2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{-2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{-2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{-2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{-2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{-2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{-2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{-2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2} + \frac{2^{2}-2}{1-2} \right] \\ = \int d_{7} \left[1-2+2^{2}-2^{2$ $\frac{11}{3} - 2C_2(G)\frac{11}{12} + B = 0$ $B = 2C_2(G)\frac{11}{12} - \frac{1}{3} = 2C_2(G)\left[\frac{11}{12} - \frac{1}{2}\right]$

 $P_{GG}(2) = 2 G_2(G_2) \left(\frac{1-2}{2} + \frac{2}{(1-2)_4} + 2(1-2) + \left(\frac{11}{12} - \frac{1}{3} \frac{T(R)}{G(G_2)} \right) \left(\frac{1}{2} - \frac{1}{3} \frac{T(R)}{G(G_2)} \right) \right)$ $T(R) = \frac{P}{2}$, $C_2(G) = N$, $C_2(R) = \frac{N^2}{2N}$ Final Form of Budutton Byrather $\frac{dq'(x_{t})}{dt} = \frac{\mathcal{L}}{2\pi} \left(\frac{dy}{y} \left(\frac{q'(y_{t}) P_{gg}(x_{t})}{y} + \frac{G(y_{t}) P_{gg}(x_{t})}{y} \right) + \frac{G(y_{t}) P_{gg}(x_{t})}{y} \right)$ $dz = \frac{x}{y^2} dy \qquad \frac{dy}{y} = \frac{y}{x} dz$ X=Z $y = \frac{x}{z}$ $dz = \frac{z dy}{y} = \frac{z dy}{z} = \frac{dz}{z}$ $\frac{d q_i(X,t)}{dt} = \frac{2}{76} \left(\frac{d^2}{z} \left(\frac{q_i}{x} \left(\frac{X}{z} \right) P_{q_q}(z) + G\left(\frac{X}{z} \right) P_{q_q}(z) \right) \right)$ $P_{qq}(2) = C_2(P) \left(\frac{(1+2^2)}{(1-2)} + \frac{3}{2}F(1-2) \right)$

 $P_{3G}(2) = \frac{1}{2} \left((1-2)^{2} + 2^{2} \right)$ => Cousider the Pgz Part $\frac{2}{26} \int_{Y} \frac{d^{2}}{d^{2}} \left(\frac{q}{2} \left(\frac{x}{2} \right) \left(\frac{1}{2} \left(\frac{1}{2} \right) \left(\frac{1}{2} \right) \left(\frac{1}{2} \right) + \frac{3}{2} \left(\frac{1}{2} \right) \right)^{2} \right)$ $=\frac{2}{2\pi}\int \frac{d^{2}}{Z}\left(q_{z}\left(\frac{X}{z}\right)C_{2}\left(\frac{1}{z}+\frac{z^{2}}{z}\right)+\right.$ $\frac{2}{24}C_{2}Q_{1}(X)\cdot\frac{3}{2}+\frac{2}{24}C_{2}\left(\frac{1}{2}\right)\frac{(1+2^{2})}{(1-2)_{3}}$ $\left(\frac{d^{2}}{2}, \frac{d^{2}}{2}, \frac$ Eq (Reg) USINJ $\int dz f(z) = \left(dx \left(\frac{f(z)}{f(z)} - \frac{f(z)}{f(z)} - \frac{f(z)}{f(z)} - \frac{f(z)}{f(z)} - \frac{f(z)}{f(z)} - \frac{f(z)}{f(z)} \right) \right)$ -f(1) $\int dz \int 1-z$

 $\int_{X} dz \frac{g_{i}(\frac{x}{z})(1+z^{3})/2}{(1-z)_{4}} = \int_{1-z} \frac{dz}{2(\frac{x}{z})(\frac{1+z^{3}}{z}-2g(x))}$ $-22(1) \int_{1-2}^{1} dz =$ $= \left(\frac{d^{2}}{1-2} \left(\frac{1+2^{2}}{7} q_{i} \left(\frac{y}{7} \right) - 2 q_{i} \left(\frac{y}{7} \right) \right) + 2 q_{i} (y) h_{0} (1-y) \right)$ Pgg, Part been mes $\frac{1}{\sqrt{11}} C_2 \cdot \frac{3}{2} \cdot \frac{1}{\sqrt{11}} \left(\frac{1}{\sqrt{12}} + \frac{1}{\sqrt{11}} C_2 \cdot 2 \cdot \frac{1}{\sqrt{11}} \right) \frac{1}{\sqrt{11}} \frac{1}{\sqrt{11}} C_1 \cdot \frac{1}{\sqrt{11}} C_2 \cdot \frac{1}{\sqrt{11}} \frac{1}{\sqrt{11}} \frac{1}{\sqrt{11}} C_2 \cdot \frac{1}{\sqrt{11}} \frac{1}{\sqrt{11}}$ $= \frac{1}{2} C_2(R) = \frac{3}{2} \left[\frac{1}{1} + \frac{4}{3} \ln \left(\frac{1}{1} + \frac{1}{3} \ln \left(\frac{1}{1} + \frac{1$ $+ \frac{1}{24} C_{2}(R) \left(\frac{d^{2}}{1-2} \left(\frac{1+2^{2}}{2} Q_{2}\left(\frac{1}{2}, 0^{2} \right) - 2 Q_{1}\left(\frac{1}{2}, 0^{2} \right) \right)$ The Marter Follow Her Equally

Vill be for quark distribution $\frac{(4.14,0^2)}{clt} = \frac{2.13}{2\pi} \frac{C_0(R)}{2} \left(\frac{1+4.6n}{3} \left(\frac{1+\sqrt{9}}{4}\right) \frac{9.14}{2}\right)$ $+ C_2(P) \left(\frac{d_2}{1+2} \left(\frac{1+2^2}{2} q_{i}(X q^2) - 2q_{i}(X, q^2) \right) \right)$ $+ \left(\frac{1}{2} d_{2} \frac{(1-2)^{2}+2}{2^{2}} + \frac{1}{2} G \left(\frac{x}{3}, 0^{2} \right) \right)$ flow Ez (Reg) is clatained. $\begin{pmatrix} dz & f(-z) \\ (1-z)_{+} \end{pmatrix} = \begin{pmatrix} dz & f(-z) \\ (1-z) \\ (1-z) \end{pmatrix} = \begin{pmatrix} dz & f(-z) \\ (1-z) \\ (1-z) \end{pmatrix} = \begin{pmatrix} dz & f(-z) \\ (1-z) \\ (1-z) \\ (1-z) \end{pmatrix} = \begin{pmatrix} dz & f(-z) \\ (1-z) \\ (1-z) \\ (1-z) \\ (1-z) \end{pmatrix} = \begin{pmatrix} dz & f(-z) \\ (1-z) \\ (1-z)$ $\frac{\text{Reguler nell } 1}{\left(\frac{d7}{f(-1)} - f(1)\right)} - \left(\frac{d7}{f(-2)} - \frac{d7}{f(-2)}\right)$ $= \left(\frac{d_{z}\left(f(z) - f(z)\right)}{d_{z}\left(f(z) - f(z)\right)} + \left(\frac{d_{z}\left(f(z) - f(z)\right)}{d_{z}\left(f(z) - f(z)\right)} - \left(\frac{d_{z}f(z)}{d_{z}f(z)} - \frac{d_{z}f(z)}{d_{z}f(z)}\right)\right)$

 $= \int_{x}^{1} \frac{1-\epsilon}{1-2} + \int_$ 27 In a similar manar ve can Obtain the Evolution Equedion for Gluon distrolaution

 $\frac{dG(X,A)}{d4} = \frac{\chi(A)}{\pi} \left(\frac{dy}{y} \left[\frac{y^{2}}{z} q^{2} (y,A) f_{Gq} \left(\frac{y}{z} \right) + G(y_{A}) f_{Gq} \left(\frac{y}{z} \right) \right] = 1 \right)$ $\frac{x}{5} = 2 \qquad \frac{dy}{5} = \frac{dz}{7}, \quad y = \frac{x}{2}$ $n - \lambda (1) \left[\frac{24}{2} n' (x i) P_{po}(2) + P_{c}(\frac{x}{2}) P_{po}(2) \right] =$

 $\frac{1}{2\pi} \left| \frac{1}{2} \left| \frac{1}{2}$ $=\frac{\lambda}{2\pi}\left(\frac{dz}{z}\left(\frac{z}{z}\right)^{2}\left(\frac{x}{z}\right)C_{e}(R)\int\frac{1+(1-z)^{2}}{z}+\left(\frac{x}{z}\right)^{2}C_{e}(G)\times\right)\right)$ $\int_{X} \frac{d^{2}}{z} \left(\frac{X}{z} \right)^{2} \left(\frac{Q}{Q} \right) \left(\frac{1-2}{z} + \frac{2}{z} + \frac{2(1-2)}{z} + \frac{1}{z} \right)^{2} \right)$ $= \int \frac{d^{2}}{d^{2}} \left(\int \frac{(x)}{z} \right)^{2} \left(\int \frac{1-z}{z} + 2(1-z) \right) + 2 \int \frac{d^{2}}{z} \left(\int \frac{d^{2}}{z} + 2(1-z) \right)^{2} + 2 \int \frac{d^{2}}{z} \left(\int \frac{d^{2}}{z} + 2(1-z) \right)^{2} + 2 \int \frac{d^{2}}{z} \left(\int \frac{d^{2}}{z} + 2(1-z) \right)^{2} + 2 \int \frac{d^{2}}{z} \left(\int \frac{d^{2}}{z} + 2(1-z) \right)^{2} + 2 \int \frac{d^{2}}{z} \left(\int \frac{d^{2}}{z} + 2(1-z) \right)^{2} + 2 \int \frac{d^{2}}{z} \left(\int \frac{d^{2}}{z} + 2(1-z) \right)^{2} + 2 \int \frac{d^{2}}{z} \left(\int \frac{d^{2}}{z} + 2(1-z) \right)^{2} + 2 \int \frac{d^{2}}{z} \left(\int \frac{d^{2}}{z} + 2(1-z) \right)^{2} + 2 \int \frac{d^{2}}{z} \left(\int \frac{d^{2}}{z} + 2(1-z) \right)^{2} + 2 \int \frac{d^{2}}{z} \int \frac{d^{2}}{z} \left(\int \frac{d^{2}}{z} + 2(1-z) \right)^{2} + 2 \int \frac{d^{2}}{z} \int \frac{d^{2}}{z} \left(\int \frac{d^{2}}{z} + 2(1-z) \right)^{2} + 2 \int \frac{d^{2}}{z} \int \frac{d^{2}}{z} \int \frac{d^{2}}{z} \left(\int \frac{d^{2}}{z} + 2(1-z) \right)^{2} + 2 \int \frac{d^{2}}{z} \int$ $= \int \frac{d^{2} \left(G\left(\frac{x}{2}\right) - G(x)\right)}{1 - 2} + G(x) \ln(1 - x)$ $\frac{6}{2} 2 C_{2}(G) \left(\int_{X} \frac{d^{2}}{z} G(\frac{X}{z}) \left(\frac{1-2}{z} + 2(1-2) \right) + \left(\frac{d^{2}}{z} \frac{G(\frac{X}{z}) - G(X)}{1-2} + \frac{1-2}{z} + 2(1-2) \right) \right) + \frac{d^{2}}{z} \frac{G(\frac{X}{z}) - G(X)}{1-2} + \frac{d^{2}}{z} \frac{G$ nr.) n (1.1) + (2/x) ·B/=

G-(X/ml $2C_2(G)\left(\frac{d}{d} - \frac{d}{d} - \frac{d}{$ FIndudny this in By $\frac{d}{dt} \left(\frac{d(X,t)}{dt} \right) = \frac{d}{2\pi} \left(\frac{d}{2} \left(\frac{R}{2} \right) \left(\frac{d}{2} \left(\frac{Z}{2} \right) \frac{d}{2} \left(\frac{Z}{2} \right) \left(\frac{L}{2} \left(\frac{L}{2} \right) \frac{L}{2} \right) \left(\frac{L}{2} \left(\frac{L}{2} \right)^2 \right) \right) \right) + \frac{d}{2\pi} \left(\frac{d}{2} \left(\frac{R}{2} \right) \frac{d}{2} \left(\frac{L}{2} \right) \left(\frac{L}{2} \left(\frac{L}{2} \right) \frac{L}{2} \right) \right) \left(\frac{L}{2} \left(\frac{L}{2} \right)^2 \right) \right) + \frac{d}{2\pi} \left(\frac{L}{2} \left(\frac{L}{2} \right) \frac{L}{2} \right) \left(\frac{L}{2} \left(\frac{L}{2} \right) \frac{L}{2} \right) \left(\frac{L}{2} \left(\frac{L}{2} \right) \frac{L}{2} \right) \right)$ $+2C_{2}(G)\left(\frac{d^{2}}{2}\left(r\left(\frac{x}{2}\right)\right)\left(\frac{1-2}{2}+2\left(1-2\right)\right)+\left(\frac{d^{2}}{2}\left(r\left(\frac{x}{2}\right)-6\alpha\right)\right)\right)$ $+\left(\frac{11}{12}-\frac{1}{3}\frac{T(R)}{C_{2}(G)}+\ln(1-X)G(X,t)\right)\Big\langle$